UIL  ACCOUNTING

Invitational A-989A (Spring 1999)
Group 1

Indicate the classification of each of the following by writing the correct identifying letter on your answer sheet.



A. asset

C. capital

E. cost of merchandise sold



B. liability

D. revenue

F. expense

1. Merchandise Sales

2. Purchases Discounts

3. any account on the left side of the accounting equation

4. utilities used this fiscal period

5. Prepaid Insurance

Group 2

Indicate whether the normal account balance of each of the following will be entered in the debit or credit column of the trial balance section of the work sheet.  Use the code:



DR = debit

CR = credit

6. Prepaid Rent


9. Sales Returns & Allowances

7. Accounts Payable
         10. Morris Cat, Capital


8. Merchandise Inventory

Group 3

Indicate whether the debit or credit to each of the following accounts will cause an increase or decrease to that account.  Use the code: 



 INC = increase      DEC = decrease

11. a debit to an expense account
14. a credit to a revenue account

12. a debit to the capital account

15. a credit to Accounts Receivable

13. a credit to Sales Discounts

Group 4

Calculate the missing amounts for the owner of the Acme Company.  Write the correct amount for items 16 through 19 on your answer sheet.








1996

1997

 1998
Joe Brick, Capital, January 1
             -0-

 #17

24,700

Owner’s investments during the year       5,000
         25,000
             2,500

Total revenue


         47,500          84,900             94,200

Total expenses


         39,400             #18

67,800

Joe Brick, Withdrawals


  #16
              500

25,000

Joe Brick, Capital, December 31
         11,600           24,700

    #19
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Group 5

The ABC Co. uses three financial statements at the end of each month.  These are the balance sheet, income statement, and statement of changes in owner’s equity.  The owner’s equity section of the balance sheet only shows the ending capital amount.

For each of the items 20 through 27, indicate on which financial statement(s) the item will appear.  Write the identifying letter of the correct response on your answer sheet.


A. Balance Sheet only


B. Income Statement only


C. Statement of Changes in Owner’s Equity only


D. Balance Sheet and Statement of Changes in Owner’s Equity


E. Income Statement and Statement of Changes in Owner’s Equity

20. Supplies Expense

21. Total assets

22. Beginning balance of capital

23. Net income

24. Owner’s withdrawals

25. Ending balance of capital

26. Investments made by the owner during the fiscal period

27. Total liabilities

Group 6

 In questions 28 through 35, use the following list of account titles to determine the accounts to be debited and credited for the adjusting entries below.  Write the identifying letter of the correct account on your answer sheet.


A. Merchandise Inventory

E. Insurance Expense


B. Office Supplies


F. Office Supplies Expense


C. Prepaid Insurance


G. an account not listed here


D. Income Summary










DEBIT
CREDIT
To adjust for insurance premiums expired…………..
  #28

    #29

To adjust for merchandise inventory when ending

   inventory is greater than beginning inventory……..
  #30

    #31

To adjust for the office supplies used…………………
  #32

    #33

To adjust for merchandise inventory when ending

   inventory is less than beginning inventory…………
 #34

    #35
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Group 7

For questions 36 through 41, use the following list of account titles to determine the accounts to be debited and credited for the closing entries below.  Write the identifying letter of the correct account title on your answer sheet.


A. Will Clark, Capital



F. Purchases


B. Will Clark, Drawing


G. Purchases Discounts


C. Income Summary



H. Transportation In


D. Sales





  I. Rent Expense 


E. Sales Returns & Allowances

36. To close Sales, credit _?_

37. To close Purchases, credit _?_

38. To close Supplies Expense, debit _?_

39. To close Will Clark, Drawing, credit _?_

40. To close Transportation In, credit _?_

41. To close Income Summary when there is a net income, credit _?_

Group 8

The following are all of the accounts of Jade Company that have a balance at the end of December, the company’s first month of operation:

	Accounts Payable
	 36,300
	
	Rent Expense
	1,500

	Accounts Receivable
	11,000
	
	Salaries Expense
	9,000

	Advertising Expense
	3,000
	
	Service Revenue
	32,000

	Cash
	10,100
	
	W. Woodward, Capital
	               ?

	Store Equipment
	39,700
	
	W. Woodward, Drawing
	2,000

	Office Equipment
	2,300
	
	
	


For questions 42 through 46, write the correct amount on your answer sheet.

42. What is the amount of net income?

43. What is the amount of capital on the trial balance?

44. What is the amount of the balancing totals on the trial balance?

45. What is the amount that the owner invested to start the business?

46. What is the amount of owner’s equity to be shown on the December 31 balance 

      sheet?
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Group 9

On your answer sheet, for each of the following statements write TRUE if the statement is true; write FALSE if it is false.

47. A trade discount is a deduction from the invoice price of merchandise that is


granted if payment is made within a specified period of time.

48. Under a periodic inventory system, the cost of any merchandise lost through


shoplifting is automatically included in the cost of merchandise sold when a

 
physical inventory is taken, and the general ledger is adjusted accordingly.

49. Sales discounts and sales returns and allowances are subtracted from sales to


get gross sales.

50. Positive elements (those that are added) in the calculation of cost of merchandise


sold also appear in the Income Statement Debit column of a work sheet.

51. If purchases discounts taken were omitted from the income statement, net income

      for the period would be understated.

52. Transportation In represents the cost of having merchandise delivered to 


customers.

53. On a work sheet, a loss is indicated if the total of the Income Statement Debit 


column exceeds the total of the Income Statement Credit column.

54. After posting the entries to close all revenue accounts and all expense accounts,


the Income Summary account of a company has a $4,000 debit balance.  This 


shows that the company earned a net income of $4,000.

55. The Income Summary account is a permanent account  with a balance that will be


carried forward year after year.

56. Revenue and expense accounts are permanent accounts.

57. All transactions must first be recorded in the ledger.

Group 10

For each of the following multiple choice questions, mark the identifying letter of the best answer on your answer sheet.

58. A book of original entry is:


A. a ledger in which amounts are posted from a journal


B. a journal in which transactions are first recorded


C. a book in which a complete record of transactions is first recorded and from



which transaction amounts are posted to the ledger accounts


D. both A and B


E. Both B and C

59.  Windmill Co. has assets of $100,000, liabilities of $10,000, and owner’s equity of


$90,000.  It buys office equipment on credit for $5,000.  What effect would this 


transaction have on these amounts?


A. Assets increase by $5,000 and owner’s equity decreases by $5,000.


B. Assets increase by $5,000 and liabilities increase by $5,000.


C. Liabilities increase by $5,000 and owner’s equity decreases by $5,000.


D. Assets decrease by $5,000 and owner’s equity decreases by $5,000.


E. Both assets and liabilities remain unchanged.

Accounting Invitational A-989A

page 5
60. Dudley Co. collected $1,500 of accounts receivable.  The effects on the accounting


equation are:


A. Total assets decrease and owner’s equity increases.


B. Both total assets and total liabilities decrease.


C. The totals for assets, liabilities, and owner’s equity are unchanged.


D. Both total assets and owner’s equity increase.


E. Total assets increase and owner’s equity decreases.

61. The Purple Co. balance sheet shows cash $5,000, accounts receivable $7,000,


office equipment $3,000, and accounts payable $4,000.  What is the amount of


owner’s equity?


A. $1,000
B. $11,000         C. $12,000
D. $15,000
    E. $19,000

62. The entry to establish a petty cash fund would include the following:




Cash in Bank

Petty Cash

Miscellaneous Expense

A.

       debit

    debit


credit


B. 
      credit

     N/A


 debit


C. 
      credit

    debit


  N/A


D.

       debit

     N/A


credit

63. If a business has invested $10,000 in an asset with a cost of $18,000, what is the


amount of its liability?


A. zero
B. $8,000
C. $10,000
     D. $18,000
E. $28,000

64. On a work sheet, if the difference between the Income Statement debit and credit


totals does not match the difference between the Balance Sheet debit and credit


totals, what should the accountant do to find the error?


A. Add the two differences together and divide by two to calculate net income or



loss.


B. Subtract the two differences from each other and multiply by two to calculate net



income or loss.


C. Verify that all debit and credit balances have been extended correctly and if



necessary verify the addition of each column.

65. The process of determining whether the amounts of cash recorded in a business’s


accounting records and in its checkbook agree is called


A. balancing cash

C. reconciling cash on hand


B. replenishing cash

D. proving cash

66. Which of the following combinations is correct?




Invoice
 Credit
   Invoice
   Payment
    Payment


  

  Date
            Terms            Amount
      Date
     Amount               


A.          August 5        2/10, n/30         3,000.00       August 14        2,940.00


B.          August 7        3/10,n/30          5,550.00       August 17        5,550.00


C.         August 27           n/30                 700.00       August 30           686.00


D.         August 23       2/10, n/30         1,520.00       August 29        1,474.40
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67. The amount paid for insurance is called the


A. bonus

B. accrual

C. advancement

D. premium

68. The initials FOB stand for


A. forced on board

C. free on board


B. free or bored


D. faxed or bonded

69. If Ken Zeebo, the owner of Zeebo Amusements, uses cash of the business to 


purchase a family automobile, the business should record this use of cash with


an entry to:


A. debit Salary Expense and credit Cash


B. debit Ken Zeebo, Salary and credit Cash


C. debit Cash, and credit Ken Zeebo, Withdrawals


D. debit Ken Zeebo, Capital and credit Cash


E. none of the above

70. On April 30, Hobo Company had an Accounts Receivable balance of $37,000.


During the month of May, total credits to Accounts Receivable were $24,000,


which resulted from customer payments.  The May 31 Accounts Receivable


balance was $32,000.  What was the amount of credit sales during May?


A. $19,000
B. $29,000
   C. $32,000
        D. $45,000
E. $56,000

71. If the assets of a business increased $15,000 during a period of time and its


liabilities increased $6,000 during the same period, owner’s equity in the business


must have:


A. increased $9,000

D. decreased $21,000


B. decreased $9,000

E. changed by some other amount


C. increased $21,000

72. Mary has prepared the following analysis of September transactions for her


business, Mary’s Antiques.  Unfortunately, she has lost some information.  


Determine the missing information.

	Trans.

Date
	Cash
	Accts.

Rec.
	Mdse.

Inventory
	Accts.

Payable
	Sales Tax

Payable
	Owner’s

Equity

	9/2
	3000
	1100
	2000
	?
	500
	4000

	9/6
	(1000)
	-0-
	4000
	?
	-0-
	-0-

	9/10
	500
	300
	(300)
	-0-
	-0-
	?





Sept. 2
Sept. 6
Sept. 10

A.

$1,600
$3,000
  $   500


B. 
  1,000
  4,000
       200


C. 
     300
  2,000
       600


D. 
  1,500
  1,000
       400


E. 
  1,600
  3,000
    1,100
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73. A bank card fee is payable when


A. a customer pays on account


B. a customer charges using a bank credit card


C. a business has a bank checking account


D. a business purchases on account

Group 11

Answer questions 74 through 80 by writing the correct amount on your answer sheet.  Refer to Table 1 on page 8.  You may remove the table page from the staple for convenience.

Answer all questions on the basis that all corrections have been made and the trial balance is in balance.

74.  What is the correct balance of Cash?

75. What is the correct balance of Accounts Receivable?

76. What is the correct balance of Prepaid Insurance?

77. What is the correct balance of Accounts Payable?

78. What is the correct balance of Rory Rogers, Capital?

79. What is the correct balance of Fees Income?

80. What is the balancing total of the corrected trial balance? 

This is the end of the exam.  Please hold your answer sheet and exam questions until the contest director calls for them.  Thank you!
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TABLE  1

(for questions 74 through 80)

	Rory Rogers Consulting

	Trial Balance

	December 31, 1998

	Cash
	7,220
	

	Accounts Receivable
	6,000
	

	Prepaid Insurance
	850
	

	Office Equipment
	8,800
	

	Accounts Payable
	
	6,260

	Rory Rogers, Capital
	
	9,000

	Fees Income
	
	8,000

	Insurance Expense
	650
	

	Rent Expense
	1,200
	

	Utilities Expense
	960
	

	Totals
	25,680
	23,260


The trial balance above is out of balance.  An examination of the records revealed the following:

1. A collection on account for $150 was debited correctly, but was credited to

    Fees Income.

2. The purchase of a six-month insurance policy for $650 on December 31, 1998

    was credited correctly, but was debited to Insurance Expense.

3. A payment on account in the amount of $450 was recorded as $540 for both the

    debit and the credit.

4. Services performed on account in the amount of $3,500 was recorded with a

    debit to Accounts Receivable for $3,500 and a credit to Fees Income for $350.

5. The utilities payment of $85 was recorded with a debit to Utilities Expense for

    $85 and a debit to Cash for $85.

6. An owner withdrawal of $1,000 cash was credited correctly, but was debited to

    the capital account.

7. A payment on account for $900 was credited to the cash account with no debit

    entry made.

